OO 2RABK FAZEE> No.1 OO

" ROAERRKZE. (x +O)*=A OWMIZER (FEATH) LTHREESL,

(1) x2—2x—1=0 (2 x2+4x+1=0

X2—2x =1 < —1%HDIBHELE
X?—2x+1 =1+1 < @BIT+1 *
(X —1)% =2 « EDER&HE. G0EFHE
X—1 =%/ 2 —2;:#1<L. GLIZxy
X=1x/2 <« —1%&HDIHBELE

(3) x?—8x—12=0 (4)
X?—8x =12 « —12%ADIZHIELS
X?—8x+16 =12+16 — mmiz+16%
(X —4)% =28 « EDERHUHM. HiDFHE
X—4 =+ 28 —2:#H<L. ABIZES
X=4x2]7 < —4xHiDIZFHIAE.

(B) x2+2x—7=0 [28%2/7IZELI- (6)
X?+2x =7 < FEFXQO~@WERL !
x2+2x+1 =741 — %

(x+1)> =8
x+1 ==*J8
X=—1x2J2
(7 x?—4x—12=0 (8)
Xt—4x =12
X?—4x+4 =12+4 — %
(x—2)% =16

X—2 ==xJ/16
X=2x4 = 6, —2 <« 2+4=6 ¢

X*+4x =—1 < 1&6BITHELE
X?+4x+4 =—1+4 — mmi+s *
(x +2)? =8 < EDER&SE. GDEHE
X+2 =%/ 3 —om#uidL. ABI+y
xX=—2+x/3 — +2%ABDICHBIELE

X?+6x—9=0

X?+6x =9 <« —9%AMIHIELS
X?+6x+9 =9+9 <« @lRIT+9 %
(x+3)% =18 <« rDEEHS#E. HLEHE
X+38 =*+/18 —2:##<L. A<t/
X=—3*x3/ 2 <« +3%AWICHIAE.

x2—10x+5=0 [ 18%3/ 2(cELI-

X*—10x =-5
X?—10x+25 =—5+25 <« %
(x—5)% =20

X—5 ==*420

X=5+x2/5

X?+8x—9=0

X?+8x =9

X?+8x+16 =9+4+16 — %
(x+4)% =25

x+4 =x/25

X=—4%£5 = 1,-—9

(9 x*—6x+5=0 2—4=—2 f3! (10) x*+2x—8=0
x?2—6x =—5 xX*+2x =8
X?—6x+9 =—5+9 — % xX?+2x+1 =8+1 « %
(x—3)% =4 (x+1)?2 =9
X—3 =x/4 X+1 =xJ9
X=3x2 = 5,1 X=—1x3 = 2. —4
11) x%®+10x+24=0 (12) x2—12x+4=0
xX2+10x =-—24 X2—1_2X =—4
X2+10x +25 =—24+25 <« % X?—12x+36 =—4+36 — %
(x+5)% =1 (x—6)% =32
X+5 =x/1 X—6 =+,/32
xX=—5*+1 = —4,—6 xX=6x4y2
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